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(27 /)
4 |I1(C 45: like to read books ).
4 are too difficult to understand
Mt A What club are you interested in
g Basketball isn’t as popular as soccer
(2) | until (til)

151 : I you like sports, you should join the Karate club. They don’t practice Karate on Mondays.

Also, you can take the 5 o’ clock bus.

145 | ()
M A 4 B 2
7 5. How many people? / How many people die every day?
@ | 4 5]: What can we do? / How can we help them?
(13 /)
7 5. Please tell me the way to the station. / How can [ get there?
m| 7 Bl A 4 B FoRAYT:
1 {5l They went there by car.
| 2 f5l: No, she didn’t.
3 f5l: He wants to learn more words that have different meanings.
A9 &) 1 {5l Learning English may be difficult because one word has some meanings.
3
2 51: I wonder how they remember Japanese words.
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